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GEOGRAPHY (Theory)
Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½

Time allowed : 3 hours ]  [ Maximum Marks: 70
fu/kkZfjr le; % 3 ?k.Vs ] [ vf/kdre vad % 70

General Instructions :

(i) There are 19 general questions.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions number 1 to 10 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 words.

(v) Questions number 11 to 15 are also short-answer questions of 4 marks
each. Answer to each of these questions should not exceed 120 words.

(vi) Questions number 16, 17 and 18 are long-answer questions of 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vii) Question number 19 contains test items of very short-answers. It is of 5
marks.

Roll No.

Series SHC/1 Code No. 64/1/1

Please check that this question paper contains 11 printed pages + 2 Maps.

Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 11 + 2 ekufp=k gSaA

iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 19 iz'u gSaA

Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aA

Candidates must write the Code on
the title page of the answer-book.jksy ua-

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

fo|kFkhZ mÙkj&iqfLrdk esa dksM ua- vo';
fy[ksA
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(viii)Outline maps of the World and India provided to you must be attached

with your answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lkekU; iz'uksa dh dqy la[;k 1919191919 gSA

(ii) lHkh iz'u vfuok;Z gSaA

(iii) izR;sd ds lkeus mlds vad fn;s gSaA

(iv) iz'u la[;k 11111 ls 1010101010 rd y?kq&mÙkj okys iz'u gSa vkSj izR;sd iz'u ds 33333 vad gSaA ,sls izR;sd

iz'u dk mÙkj 8080808080 'kCnksa ls vf/kd ugha gksuk pkfg,A

(v) iz'u la[;k 1111111111 ls 1515151515 rd Hkh y?kq&mÙkj okys iz'u gSa vkSj izR;sd ds 44444 vad gSaA ,sls izR;sd

iz'u dk mÙkj 120120120120120 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 16] 1716] 1716] 1716] 1716] 17 vkSj 1818181818 yEcs&mÙkj okys iz'u gSa vkSj izR;sd ds 55555 vad gSaA ,sls izR;sd

iz'u dk mÙkj 150150150150150 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) iz'u la[;k 1919191919 esa vfr y?kq&mÙkjksa dh ijh{k.k ensa 'kkfey gSaA ;g iz'u 55555 vad dk gSA

(viii) lalkjlalkjlalkjlalkjlalkj vkSj HkkjrHkkjrHkkjrHkkjrHkkjr ds fn;s x;s js[kk&ekufp=kksa dks viuh mÙkj&iqfLrdk esa vo'; uRFkh dhft,A

(ix) js[kk&ekufp=k cukus ds fy;s lk¡pks a lk¡pks a lk¡pks a lk¡pks a lk¡pks a ;k LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a ds iz;ksx dh vuqefr nh tkrh gSA

1. Who was the writer of the book ‘Geographia Generalis’? State two branches

of geography according to this writer. 1+2=3

^T;kWxzkfQ;k tujsfyl* uked iqLrd dk ys[kd dkSu Fkk\ bl ys[kd ds vuqlkj Hkwxksy dh nks
'kk[kkvksa dk mYys[k dhft,A

2. Name the three groups of resources based on the content and give one example

of each group. 1½+1½=3

fo"k;oLrq ij vk/kkfjr lalk/kuksa ds rhu oxks± ds uke crkb, vkSj izR;sd oxZ dk ,d&,d
mnkgj.k nhft;sA
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3. Why is iron most widely used in the world, in comparison with other metals ?

Explain three reasons. 3×1=3

lalkj esa yksgs dk mi;ksx vU; /kkrqvksa dh rqyuk esa lokZf/kd D;ksa gksrk gS\ rhu dkj.k Li"V

dhft,A

4. Explain with examples the three major physical factors which affect the crop

distribution in the world. 3×1=3

lalkj esa Qlyksa ds forj.k dks izHkkfor djus okys rhu izeq[k HkkSfrd dkjdksa dks mnkgj.kksa lfgr

Li"V dhft;sA

5. How does ‘specialisation’ in the production of goods and services promote

international trade in the world? Explain with three suitable examples. 3×1=3

oLrqvksa vkSj lsokvksa ds mRiknu dh ^fof'k"Vrk* lalkj esa vUjkZ"Vªh; O;kikj dks fdl izdkj

izHkkfor djrh gS\ rhu mi;qä mnkgj.kksa lfgr Li"V dhft;sA

6. Explain any three major problems faced by Indian farmers in drylands. 3×1=3

'kq"d Hkwfe;ksa esa Hkkjrh; fdlkuksa ds lkeus vk jgh fdUgha rhu izeq[k leL;kvksa dks Li"V dhft,A

7. “There is marked regional disparity in the levels of development in India”.

Support this statement with any three suitable examples. 3×1=3

^^Hkkjr esa fodkl ds Lrjksa esa izknsf'kd fo"kerk Li"V >ydrh gSA** fdUgha rhu mi;qä mnkgj.kksa

}kjk bl dFku dh iqf"V dhft;sA
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8. Study the map given below and answer the questions that follow :

1950-51 1980-81 1996-97

Length of Roads (000 km)

All 400 1419 2465.9

Surfaced 157.0 684.0 1394.1

National Highways 19.8 31.7 34.8

State Highways NA 94.4 137.1

Number of Registered

Vehicles (000)

All 306 5391 37231

Goods Vehicles (000) 82 554 2260

Buses 34 162 488

(8.1) Which type of roads shows the highest increase during the period
between  1950-51 and 1996-97 ? How much has it increased ?

(8.2) Explain two reasons responsible for the increase in this type of roads.1+2=3

uhps nh xbZ lkj.kh dk v/;;u dhft;s vkSj mlds uhps fn;s x, iz'uksa ds mÙkj nhft, %

1950-51 1980-81 1996-97

lM+dks a dh yEckbZlM+dks a dh yEckbZlM+dks a dh yEckbZlM+dks a dh yEckbZlM+dks a dh yEckbZ (000 fdeh)

lHkh izdkj dh lM+dsa 400 1419 2465.9

iDdh lM+dsa 157.0 684.0 1394.1

jk"Vªh; egkekxZ 19.8 31.7 34.8

jkT; egkekxZ NA 94.4 137.1

dqy iathÑrdqy iathÑrdqy iathÑrdqy iathÑrdqy iathÑr

okguokguokguokguokgu (000) 306 5391 37231

ekyokgd okgu (000) 82 554 2260

clsa 34 162 488
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(8.1) 1950&51 vkSj 1996&97 dh vof/k ds e/; fdl izdkj dh lM+dksa esa lokZf/kd o`f)

gqbZ gS\ ;g o`f) fdruh gS\

(8.2) bl izdkj dh lM+dksa esa gqbZ o`f) ds fy, mÙkjnk;h nks dkj.kksa dks Li"V dhft,A

Note : The following question is for the BLIND CANDIDATES only in lieu
of  Q. No. 8.

State any three main features of ‘Border Roads’. 3×1=3

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 8 ds LFkku
ij gSA

^lhekorhZ lM+dksa* dh fdUgha rhu eq[; fo'ks"krkvksa dk mYys[k dhft,A

9. Study the map given below and answer the questions that follow : 1+1+1=3
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(9.1) Name the canal shown in the map. In which country is it located ?

(9.2) Name the two seas connected by this canal.

(9.3) Name any two lakes through which this canal passes.

uhps fn, x, ekufp=k dk v/;;u dhft, vkSj mlds uhps fn;s x;s iz'uksa ds mÙkj nhft, %

(9.1) ekufp=k esa fn[kkbZ xbZ ugj dk uke crkb,A ;g ugj fdl ns'k esa fLFkr gS\

(9.2) bl ugj ls tqM+s nks lkxjksa ds uke crkb,A

(9.3) fdUgha nks >hyksa ds uke crkb,] ftuls gksdj ;g ugj xqtjrh gSA

Note : The following question is for the Blind Candidates only in lieu
of  Q. No. 9.

State three main features of ‘Panama Canal’. 3×1=3
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uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku
ij gSA

^iukek ugj* ds rhu eq[; y{k.kksa dk mYys[k dhft,A

10. Study the diagram given below and answer the questions that follow : 1+2=3

(10.1) Give a suitable title to the given diagram.

(10.2) How is rainwater harvested through this technique ? Explain.

uhps fn, x, vkjs[k dk v/;;u dhft, vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

(10.1) fn, x, vkjs[k ds fy, mi;qä 'kh"kZd nhft,A

(10.2) bl fof/k }kjk o"kkZty dk laxzg.k fdl izdkj fd;k tkrk gS\ Li"V dhft,A
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Note : The following question is for the Blind Candidates only in lieu

of  Q. No. 10.

What is rainwater harvesting ? State any four objectives of rainwater harvesting.1+2=3

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku

ij gSA

o"kkZty laxzg.k fdls dgrs gSa\ o"kkZty laxzg.k ds fdUgha pkj mís';ksa dk mYys[k dhft;sA

11. Write any two main characteristics each of the four different modes of transport

in the world. 4×1=4

lalkj esa ifjogu ds pkj fHké ek/;eksa dh nks&nks fo'ks"krk,a fyf[k,A

12. Describe any four major human-made sources of air pollution in India. 4×1=4

Hkkjr esa ok;q iznw"k.k ds fdUgha pkj izeq[k ekuoÑr lzksrksa dk o.kZu dhft,A

13. Explain any four differences between rural and urban settlements in India. 4×1=4

Hkkjr esa xzkeh.k vkSj uxjh; cfLr;ksa esa fdUgha pkj vUrjksa dks Li"V dhft,A

14. Classify the means of communication of India into two groups. Explain three

points of importance of each group. 1+3=4

Hkkjr ds lapkj lk/kuksa dks nks oxks± esa foHkkftr dhft,A izR;sd oxZ ds lk/kuksa ds egÙo dks

rhu&rhu fcUnqvksa esa Li"V dhft,A

15. Study the table given below and answer the questions that follow : 1½+1½+1=4

Global Land Use Changes (Area in Million Hectares)

Broad Land Uses 1700 1850 1920 1950 1.980 2000*

Forests 6214 5965 5678 5389 5053 3454

Grasslands 6860 6837 6748 6780 6788 3427

Croplands 265 537 913 1170 1501 1512
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(15.1) Under which land use category the smallest area of land is being used ?
Explain one reason for it.

(15.2) Name the land use category in which the area is continuously decreasing.
Explain due reason for it.

(15.3)  Explain the main reason for the continuous increase of crop land area.

uhps nh xbZ lkj.kh dk v/;;u dhft, vkSj mlds uhps fn;s x;s iz'uksa ds mÙkj nhft;s %

fo'o Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½fo'o Lrj ij Hkw&mi;ksx ifjorZu ¼{ks=kQy nl yk[k gsDVs;j esa½

izeq[k Hkw&mi;ksx 1700 1850 1920 1950 1.980 2000*

ou 6214 5965 5678 5389 5053 3454

?kkl Hkwfe 6860 6837 6748 6780 6788 3427

Qly {ks=k 265 537 913 1170 1501 1512

(15.1) fdl Hkw&mi;ksx ds vUrxZr lcls de Hkw&{ks=k dk mi;ksx gqvk gS \ bldk ,d dkj.k

Li"V dhft,A

(15.2) ml Hkw&mi;ksx oxZ dk uke crkb;s ftldk {ks=kQy yxkrkj ?kV jgk gSA bldk ,d

dkj.k Li"V dhft,A

(15.3) Qly {ks=k ds yxkrkj c<+us dk eq[; dkj.k Li"V dhft;sA

Note : The following question is for the Blind Candidates only in lieu

of  Q. No. 15.

Explain any four features of commercial agriculture practiced in the world. 4×1=4

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 15 ds LFkku

ij gSA

lalkj esa okf.kfT;d Ñf"k dh fdUgha pkjpkjpkjpkjpkj fo'ks"krkvksa dh O;k[;k dhft;sA
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16. What are rural settlements ? Which are the two distinct patterns of rural

settlements of the world based on the form ? Describe three main features of

each. 1+1+1½+1½=5

xzkeh.k cfLr;k¡ fdUgsa dgrs gSa\ vkÑfr ds vk/kkj ij lalkj dh xzkeh.k cfLr;ksa ds nks izeq[k

izk:i dkSu ls gSa\ izR;sd dh rhu&rhu fo'ks"krkvksa dk o.kZu dhft;sA

17. What is the meaning of population growth ? Describe two main features each

of the four phases of Indian demographic history. 1+4=5

tula[;k o`f) dk D;k vFkZ gS\ Hkkjrh; tukafddh; bfrgkl dh pkjksa voLFkkvksa dh nks&nks eq[;

fo'ks"krkvksa dk o.kZu dhft;sA

18. How do the physical factors play a dominant role in the distribution and density

of population on the earth’s surface ? Explain any five factors with suitable

examples. 5×1=5

i`Foh ij tula[;k ds forj.k rFkk ?kuRo dks izHkkfor djus esa HkkSfrd dkjd fdl izdkj egRoiw.kZ

Hkwfedk fuHkkrs gSa\ fdUgha ik¡p dkjdksa dks mi;qä mnkgj.kksa lfgr Li"V dhft;sA

19. (19.1) In the given political outline map of the world four features are shown

as A, B, C and D. Identify them with the help of the map legend and

write their correct names on the dotted lines marked on the map.4×½=2

(19.2) On the given political outline map of India provided to you, locate and

label the following with appropriate symbols :                                    3×1 =3

(i) The least populated state,

(ii) The biggest oil refinery in the country,

(iii) Iron and steel plant located in Chhattisgarh.

(19.1) fn, x, lalkjlalkjlalkjlalkjlalkj ds jktuhfrd js[kk&ekufp=k esa pkj y{k.k A, B, C vkSj D ls

fn[kk, x, gSaA ekufp=k dh dqath dh lgk;rk ls mUgsa igpkfu, vkSj ekufp=k esa

vafdr [kf.Mr js[kkvksa ij mu y{k.kksa ds lgh uke fyf[k,A
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(19.2) vkidks fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k esa fuEufyf[kr dh fLFkfr

mi;qä fpg~uksa }kjk fn[kkb, vkSj muds uke fyf[k;s %

(i) lcls de tula[;k okyk jkT;

(ii) ns'k dh lcls cM+h rsy ifj"dj.k 'kkyk

(iii) NÙkhlx<+ esa fLFkfr yksgk vkSj bLikr la;a=k

Note : The following question is for the Blind Candidates only in lieu

of  Q. No. 19. 5×1=5

(19.1) Name the most populated country of Africa.

(19.2) Which is the largest wheat producing country of Europe ?

(19.3) Which is the least populated state of India ?

(19.4) Name the biggest oil refinery of our country.

(19.5) Name the iron and steel plant located in Chhattisgarh.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 19 ds LFkku

ij gSA

(19.1) vÝhdk ds lcls vf/kd tula[;k okys ns'k dk uke crkb;sA

(19.2) ;wjksi dk lcls cM+k xsgw¡ mRiknd ns'k dkSu lk gS\

(19.3) Hkkjr dk lcls de tula[;k okyk jkT; dkSu lk gS\

(19.4) vius ns'k dh lcls cM+h rsy ifj"dj.k 'kkyk dk uke crkb;sA

(19.5) NÙkhlx<+ esa fLFkr yksgk vkSj bLikr la;a=k dk uke crkb;sA
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